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4 PART I / WRT I
CHILD DEVELOPMENT AND PEDAGOGY / wret fershrar & Rrermones

A : ﬁm%@am#%méﬁ%ﬁgw#aﬁﬁ
faseq gHT |

Directions : Answer the following ‘questions by

selecting the most appropriate option. '

1. Learning disabilities are generally found

(1) in special]& those children whose
paternal relatives have such problems

(2) in children with average to superior IQ
(3) more often in boys as compared to girls

(4) more often in children belonging to rural
areas as compared to urban areas

2. A child cannot distinguish between ‘saw’ and

‘was’, ‘nuclear’ and ‘unclear’. He/She is

suffering from

(1) dysmorphemia

(2) dyslexia

(3) word jumbling disorder
(4) dyslexemia

3. In the Information Processing Model of
thinking, the following steps are said to take
place :

A. Response execution

B. Response selection

C. Pre-Processing

D. Categorisation

The correct sequence of these steps is
(1) D,CB,A

2) C,D,BA

3) B,D,CA

4) CAD,B

4.  Gifted students are _
(1) independent in their judgements
(2) independent of teachers
"(3) introvert in nature

(4) non-assertive of their needs

1.
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(3)

Partial reinforcement

(1) is more effective than continuous
reinforcement

(2) is less effective than continuous
reinforcement :

(3) cannot be applied in actual classrooms

(4) works best in training animals

Orthopedically impaired children are likely to
have

(1) dysgraphia
(2) dysthymia
(3) dyscalculia
“(4) dyslexia

Adolescents may experience
(1) feeling of satiation about life
(2) anxiety and concern about themselves

(8) feeling of fear about sins committed in
childhood

(4) feeling of self-actualization

Which one of the following is an example of a
fine motor skill ?

(1) Hopping

(2) Running

(3) Writing

(4) Climbing

Vygotsky theory implies
(1) collaborative problem solving
(2) individual assignments to each student

(3) after initial explanation, do not support a
child in solving difficult questions

(4) child will learn best in the company of
children having 1Q lesser than his/her
own

AglaSem Career
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10.

11.

12,

13.

14.

(4)

Smallest unit of meaning in a language is
(1)
2
(3)
C))

syntax
morpheme
phoneme

pragmatics

A child of 16 years scores 75 in an IQ test; his
mental age will be years.

(1) 8

(2) 14
3 15
(4) 12

1Q scores are generally correlated

with academic performance.
(1)
(2)
(3)
4)

perfectly
highly
moderately

least

Which one of the following optimizes
motivation to learn ? ‘

(D
(2)
(3

Extrinsic factor
Motivation to avoid failure

Tendency to choose very easy or difficult
goals

4)

Personal satisfaction in meeting targets

Theory of multiple intelligences implies the
following except

(D

disciplines should be presented in a
. numbers of ways

2) learning could be assessed through a
variety of means '

(3) emotional intelligence is not related t
1Q :
intelligence is a distinct set of processing
operations used by an individual to solve

problems

4

t

10.

11.

12.

13.

14,
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15.

16.

17.

18.

NG

(5)

One of the identical twin brothers is adopted

" by a socio-economically rich family and the

other by a poor family. After one year, which
one of the following may be most likely
obscrved about their 1Q scores ?

(1) The boy with rich socio-economic family
will score greater than the boy with poor
family

(2) Both of them will score eciually

(3) The boy with poor family will score
greater than the boy with rich

socio-economic family

Socio-economic level does not affect the
1Q score

4

Assessment for learning takes into account the
following except

(D
(2)

learning styles of students
strengths of students
necds of students

mistakes of students

4)

An empowering school will promote which of
the following qualities the most in its
teachers ?

(1
)
(3
(4)

Memory

Disciplined nature

Competitive aptitude

Tendency to experiment

Monika, a Maths teacher, asks Radhika a

question. On not getting any answer from
Radhika, she quickly moves on and asks

Mohan another question. She rewords her|’

question after realizing that Mohan is
struggling to find the answer. This tendency of
Monika reflects that she is

(1) trying not to put Radhika in an

embarrassing situation

well aware of the fact that Radhika is
not capable of answering questions

(2)

3
4)

slightly nervous about her question

supporting gender stereotypiﬁg of roles
by favouring Mohan -

15.

16.

17..

18.
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19.

20.

- 21,

22,

(4)

(6)

The best way to avoid gender discrimination

in a school may be

@)

selection of more boys than girls for a
music competition

(2

metacognition of their gender-biased
behaviours by teachers

3

recruitment of equal number of male
and female teachers

4)

formation of a rule to shun gender
discrimination in the school and enforce
it strictly

Which of the following would be the most
appropriate way to encourage disadvantaged
children to attend school regularly ?

@)
(2
3

Paying & 5 per day to attract children

Opening residential schools

Not allowing children to attend school
may be made a legally punishable
offence

(4) A child collector employed by the school,

scholastic areas on the basis of performance in
co-scholastic areas can be justified as

(1)
(2
3

it ensures universal retention
it develops respect for manual labour
it caters to individual differences

it follows the policy of compensatory
discrimination for the marginalized
students

19.

20.

must bring - children from homes
everyday '
: ' 21.

Successful inclusion requires the following
except
(1) Capacity building
- (2) Sensitization
(3) Segregation
(4) Involvement of parents

' ‘ .22,
The 'up-scaling of performance in the

(@
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23.

24.

25.

26.

@)

(7)

While selecting material for the portfolio of
students : of should be
there.

oy
(2)
(3)
(4)

exclusion; students
inclusion; other teachers
inclusion; students

inclusion; parents

Of the following, the greatest advantage of
interdisciplinary instruction is that

(1) students are less likely to develop a
dislike for particular topics of different

subject areas

(2)

teachers are permitted greater flexibility
in planning lessons and activities

(3) students are given opportunities to
generalize - and apply newly learned

knowledge in multiple contexts

teachers are less likely to feel
overwhelmed by the multiplicity of topics
needed to be addressed in a traditional
curriculum

(4)

A teacher can make problem-solving fun for
students by doing all the following except

ey
(2)

giving time for free play

providing endless opportunities for
creative thinking )

6))

expecting perfection from the students
while they are trying to do things by
themselves ‘

providing open ended material

4)

Learners who demonstrate an earnest desire
for increased knowledge and academic
competence are said to have a

Mastery orientation
(2)
(3)
4)

Performance-approach orientation
Performance-avoidance orientation

Work-avoidance orientation

23.

24.

25.

26.
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E

27.

- 28.

29.

30.

(8)

In order to instil a positive environment in a
primary class, a teacher should

(1) wish each child in the morning

(2) not discriminate and set the same goal
for every child

(3) allow them to make groups on their own
on the basis of sociometry during group
activities

(4) narrate stories with positive endings

Which would be the best first theme to start

with in a nursery class ?
(1) My ncighbourhood
(2) My school

"~ (3) My family

(4) My best friend

Which of the following is true in relation to
errors made by children ?

(1) Errors can be corrected by children
themselves, therefore a teacher should
not immediately correct them

(2) If a teacher is not able to correct all
errors in the classroom it indicates that
the system of teacher education has
failed

(3) A teacher éhould not notice every error
otherwise syllabus will not be covered

(4) Correcting every error would take too
much time and be tiresome for a teacher

Which of the following characteristics is the
hallmark of the problem-solving approach ?

(1) There is an irﬁplicit hint given in the
problem statement

(2) The problem is original

(3) There is usually one approach for getting
the right answer

(4) The problem is based on only one
principle/topic

27.

28.

29,

30.
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(9)

PART II / WwtT 11

AglaSem Career

MATHEMATICS /vfora

Directions :

Answer the following questions by

g : Refkiied v & 3w 87 & o qag 3

selecting the most appropriate option. oy §'ﬁ'(.7 /
31. The sum of place values of 2 in 2424 is 31. 2424 ¥ 2 & T W 1 ATEA B
4 @ 4
2) 220‘ @) 220
(3) 2002 (3) 2002
(4) 2020 @ 2020
32. (Smallest common mu]t‘ip]e of 12 and 16) .>< 32, (12 3 16 F1 =Fam ard Tm) x (10 R 15
(Smallest common multiple of 10 and 15) is
equal to | WWEﬁW)W%
(1) 960 (1) 960
(2) 1720 (2) 720
(3) 1440 (3) 1440
(4 480 (4) 480
33. What should be added to the product ‘33- TUH%T 140 x 101 d w0 ‘_’h@ R fed f
140 x 101 to get 14414 ? £ 14414 TH B ?
(1) 264 (1) 264
(2) 274 (2 274
(3) 278 3) 278
4) 364 4) 364
34. The sum of all the factors of 100 is 34, TEAT 100 % Gt VHGS! *T ITHA B
(1) 115 ' (1) 115
(2) 216 (2) 216
3) 217 3) 217
(4) 223 (4) 223

SPACE FOR ROUGH WORK / T &1 & foru wirg
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35.

36.

317.

38.

(10)

Number of hours and minutes from 6 : 14 a.m. | 35.

to 8 : 02 p.m. on the same day is
(1) 2 hours and 12 minutes
(2) 12 hours and 16 minutes
(3) 13 hours and 48 minutes

(4) 14 hours and 16 minutes

How many % are there in % ? . 36.

(1
(2)
3)
4

Sy b W

When 121012 is divided by 12, the remainder | 37,

is
(1)
(2)
3
4)

oW O

Which one of the fellowing is not correct ? 38.

(1) 1 paisa=¥ 001
(2) one and a half dozen = 18

(3) 1 millimetre = 0-1 centimetre

(4) 3 litres 30 millilitres = 330 millilitres

(3) 13 HR 3N 48 firFe

AglaSem Career

forelt &9 6 : 14 am. ¥ 8: 02 p.m. TH T e
firel ) gew B

(1) 249 3 12 fiFe ’
@) 122 3R 16 fie

(4) 14 92 3R 16 fiFe

23 Lo
3 6

1)
2)

3)
4)

Sy A W N

121012 I 12 ¥ NI A T 96 8

1 o
(2)
(3)
4)

W N

e 3 & SR vl 777 R 2

(1) 1% = T 001

(2) TH MW 791 G5 = 18

3) 1 faeffier = 0.1 T

(4) 3@ 30 firefiefiet = 330 faefiefiet
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39.

40.

41.

42.

(11)

A chocolate has 12 equal pieces. Manju gave

one-fourth of it to Anju, one-third of it to

Sujatha and one-sixth of it to Fiza. The
number of pieces of chocolate left with Manju
is

(1)
@
(3)
4
One orange costs two and a half rupees. How

much will three and a half dozen oranges
cost ?

1) T90

(2) ¥ 105
3) TI112
(4) T 120

=W N =

Floor of a square room of side 10 metres is to
be completely covered with square tiles, each
having length 50 centimetres. The smallest
number of tiles needed is

(1) 200
(2) 300
(3) 400
(4) 500

The
24 cm. The area of the bigger square is how

perimeter of twg squares is 12 cm and

- many times that of the smaller ?

(1) 2 times
(2) 3times
(3) 4times
(4) 5 times

39.

40.

41.

42,
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1 1
2 2
3) 3
4 4

T Gl 1 Yoo 318 F91 § | TQ o g |eri
1 e BN ?

(1) T90

(2) T 105

(3) T 112

4 T120

10 M WS a1 TH AMHR FR 5 FF B
TR TEAT & qUiqa g1 § | 3R e s
F A 50 FEHIR B, A AR 3l hl
AT &I B

(1) 200

(2) 300
(3) 400
(49) 500

3 ot & iy 12 At dor 24 Tft ¥ | 9 =
F1 BIFA B I o AAGA HI e T 8 2
(1 27

(2 8T

(3) 47T

@ 5T
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43.

44.

45.

(12)
43. Tt @R TH B oTaRes @, ASK

Internal length, breadth and height of a
rectangular box are 10 c¢cm, 8 ¢cm and 6 cm

respectively. How many boxes are needed to|

pack 6240 centimetre cubes ?
1 12
(2) 13
3 15
4 17

The number of degrees in four and onc-third
right angles is

(1) 390
(2) 395
(3) 400
(4) 405

In the figure, side of each sguare is 1 cm. The
area, in square cm, of the shaded part is

/1
A
N

1) 8
(2)

3 10
4) . 11

44.

45.
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L 12

@ 13

3 15

@ 17

=R 3T u-fogré wmenn # fefinnt < v g
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(4) 405

. T rL
st 1 e, a2, &
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\\k
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46.

47.

(13)
46. dvon Ffm qlwl A dE B AE HogRd

Shailja can express a number in different

ways. For example 4 =2 + 20r 4 =1 + 3 etec.
In which developmental phase of numbers is

she ?

(1) Quantifying phase

(2) Partitioning phase

(3) Factoring phase

* (4) Operating phase

A child of Class III reads 482 as four hundred
eighty two but writes it as 40082. What does
this indicate for a teacher ?

(1) Child is not attentive in the class and is

a careless listener

(2) Child is a careful listener but has not
established sense of place value

(3) Child is confusing the expression of
number in expanded form and in short
form

(4) Teacher should teach the concept of place
value when the children are able to write
numbers correctly '

AglaSem Career
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IR F I a4=2+2 9T 4=1+3
snfe | a8 G & feu fammcas sfeaen w
27

(1) gfmmeds T
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(3 TUEER JFEE

47,
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a1 111 F1 S0 482 Hl IR € warf) vgan
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Al

(2) =T ©IF ¥ gl g ik ™ TH H
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i og w9 3§ wfta R
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it 99 s= GdEme ® Wl YER
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48.

49.

(2)-

(14)

To introduée subtraction of two-digit numbers
in Class III, a teacher proceeded in the
following steps :

StepI: Revision of two-digit numbers with
understanding of place value system..
Step IT : Use of tally marks to show that

smaller number can be subtracted
from larger number.

Step IIl - Application of subtraction on
numbers under each column of place
value.

In this case teacher is developing the lesson

(1) from system concept — operation —

~ algorithm

(2) from operation — system. concept —
algorithm

(3) from algorithm — system concept —
operation

(4)

from system concept — algorithm —
operation

“Which two numbers when multiplied give the

- product 24 7" -

This question

(D

is an open ended question as it has more
than one answer

is a closed-ended question as it has
definite number of answers

(3) suggests general problem-solving
strategy to the child so that he/she can

answer correctly

(4) helps the child to think metacognitively

48.

49.
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4
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50.

51.

(15)

mr$mv%%MRmm%+%ﬁvﬁw%@

The students of Class V were able to attempt

the problem %—% correctly, but not able to

solve the problem “How many él— cake pieces

are there in half a cake ?”. The reason is

(1) students’ language development is poor
(2) problem is of higher difficulty level for
Class V

operations on fractions are taught
without contextualisation and language
support

students are not able to understand the
mathematical equivalence of the two
problems

3)

(4)

Hamida always allow her students to observe
the number pattern and to form conjectures on
their own in order to enhance their
mathematical abilities. She wrote the
followin; problems on board and asked the
students to write the answers :

21+17=

21+ 07=

021 + 0-07 =

0-021 =+ 0-007 =
Through the set of questions she wants the
students to observe that
(1) as one factor is divided by 10 and the
other is multiplied by 10, the product
remains same
as one divisor is decreased by 10 and the
other is increased by power of 10, the
product remains same
if both the divisor and the dividend are
increased or decreased by power of 10,
the quotient remains the same
if both the divisor and the dividend are
decreased by power of 10, the quotient is
also decreased by the power of 10

(2)
(3

(4)

51.
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(4)
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52.

53.

54.

(16)

Piaget believed that learning results from

social instruction and a mathematics teacher

believing in Piaget’s theory shall use

(1) lots of manipulatives and lab activities in
the.class

(2) group project and group discussion

(3) differentiated instruction

(4) chalk and talk method

Pradeep was shown a broken ruler

¥ 1 1 ] T
/ 2 3 4 5 6
is 5 cm on the ruler. He picked up the ruler
and pointed at the mark of 5 cm on the ruler.

and asked, where

His answer ,

(1) is correct as he rightly pointed out the
mark of 5 em on the ruler

(2) is incorrect as he is showing a point only
and not the distance between two points
marked as 0 and 5 »

(3) 1is incorrect as the ruler is broken and he
must start with 2 and should point at 7
as the desired mark

(4) is reflecting that he has the
misconception that 5 cm refers to a point
and not to a length

Uma was not able to understand the concept
of odd and even numbers. In order to improve
her understanding, the teacher took some 20
pebbles of different colours and asked her to
pair them up and sort out the numbers from 1

" to 20 for which pebbles get paired up or do not

get paired up. Uma

(1) is a visual learner

(2) is a kinesthetic learner
(8) is an auditory learner
(4) needs personal attention

52.

53.

54.
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55.

56.

57.

‘various figures,

N ' (17)

Rubrics of assessment. for the geometry lesson
on points and lines in Class 1V shall be

(1) can differentiate between line and line A

segment, can mark a point, can draw a
line segment of given length accurately

(2) can measure the line in ¢ms and inches
accurately, can name the line

(3) can measure the line segment in cms and
inches accurately and can mark end
points of line segment

(4) can differentiate between line, ray and
line segment and can definc them

In a class, a teacher asked the students to
define a quadrilateral in different ways

— using sides, using angles, using diagonals

etc.

The teacher’s-objective is to

(1) help the students to explore various
definitions
(2) help the students to understand

quadrilateral from different perspectives

help the students to memorize all

definitions by heart

(4) help the students to solve all problems of
quadrilateral based on definitions

3)

Students are asked to establish a relation
between vertically opposite angles. They draw
measure the angles and
observe that vertically opposite angles are
equal.

In this case, students according to Van Hiele
thought are at

- (1) Visualization level

(2) Analytic level
(83) Informal Deduction level
(4) Deduction level

55.

56.
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58.

59.

60.

(2)

w
Higher Order Thinking Skills (HOTS) based
questions demand the

(1
)
3)
(4)

knowledge of facts, rules, formulae
knowledge of algorithm
knowledge of symbols and diagrams

knowledge and some degrée of cognitive
efforts

Most appropriate formative task. to assess the
students’ understanding of data analysis is

(1) Quiz

Role play

Crossword

3)

(4) Survey-based Project

Classroom discussion was initiated in
Class V on ‘Sale’ in festival season, during
topic of ‘Percentage’. This type of discussion in
classroom -

(1) helps the students to listen to each
other’s opinion and encourages them to

present their argument

must be avoided as it raises the noise
level of class and disturbs others

(2)

helps the students to enhance their
debating skills

3

)

starts heated arguments in class and
spoils the atmosphere of the class

(18)

b8.

59.

60.
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(19)
PART III / ¥ 01

ENVIRONMENTAL STUDIES / ugtaur 1egaq |
R : Rrfonaa 3o & 37 7 & ow qaq Il

Directions : Answer the following questions by

selecting the most appropriate option.

61.

62.

63.

64.

In the villages of Bihar many farmers do
bee-keeping and collect honey to earn extra
money. The best time to start bee-keeping is

1)
(2)
(3)
4

January to March
April to June
July to September

October to December

Select the one which is different from the
others :

(1) Petrol
(2)
(3)
(4)

\
Paraffin wax
Grease

Coal

‘Nepenthes’ is a plant which traps and eats

frogs, insects and even mice. In our country
this plant is found in ’ '
| (1) Arunachal Pradesh

(2) Meghalaya

(3) Assam

(4) Orissa

One Pashmina shawl is as warm as

normal sweaters and
hours are taken to weave a plain Pashmina
shawl.

(L
(2)
(3)
4)

10; 200
06; 250
06; 200

10; 250
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65.

66.

67.

(D

E)

(4)

(20)
65. T WG HY T GHg HEUd &

The ‘group called Tarun Bharat Sangh is
associated with

rebuilding old lakes

(2) helping specially abled children in

learning

providing cooked midglay meal in
schools -

(4)

running free coaching classes for the
children belonging to EWS

Select from the following the characteristics of
the houses of Leh and Ladakh :

A. Slanting wooden roofs made of tree
trunks

B. Ground floor without window

C. Thick walls made of stones, mud and
lime ‘

D. Wooden floors

(1) AB,C

(2) B,C,D
3) C,D,A

A, B,D

Growing the same crop over and over and

using so many chemicals makes the soil
(1) fertile’
(2) barren
3)

useful for a special kind of crop

4)

fit for irrigation

66.

67.
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68.

69.

70.

S 71,

(21)

For making Madhubani paintings the artists
use '

(1
(2)
3)
4)

specially made poster colours
fibre paints of very good quality
paints made by dissolving silver and gold’

coloured paste of powdered rice

Select from the following a group of diseases
caused by mosquitoes :

e))
(2)
3
4)

Malaria, Dengue, Cholera
Malaria, Chikungunya, Typheid
Dengue, Malaria, Chikungunya
Malaria, Cholera, Typhoid

Select the correct characteristics of petroleum
from the following :

(1) smelly, thick, dark coloured oil
(2)
(3)

smelly, thin, pale liquid

pleasant smelling, thin, blue coloured
liquid

4)

dense and dark fluid without smell

Select the correct statements about snakes :

A.  Only four types of poisonous snakes are
found in our country.

B. Cobra is a poisonous variety of snakes.

A poisonous snake has four hollow teeth
(fangs) through which the poison enters
the body of a person when the snake
bites.

D. Medicine for snake bites is made from
the snake’s poison.

(1) A,BandD
2)
(3)

4)

B,Cand D
C,Dand A
B,Aand C

68.

69.

70.

71.

AglaSem Career

E
Agefl fol @l F9M & foe fesrerl grr e
fope M a1t T B §
(1) o9y TR | 9 G
(2) i I TOET % FIFHR U=
(3) WA = s T i
(4) 9 guaIEd & o ad
frafafea # @ W0 &1 98 wg ghe S wsd
 Horar @
(1 wafeEn, 3, &

@ it fewnfaan, e gen

(3) <, Aaifen, feeRgin
(4) wafEn, &, i gEr

frafafes # @ o & @@ Ao
EEAE - |

(1) WTEER, Tel, Tal T & ad

(2) WGHICR, Y4, diell gd

(3) =B 1Y HI, yqen, Fien T 5@

(4) =1 7ig <A1 TR 9T MR T W WA

aidt & e o @l wum gihu |

A. TR W H Fhad IR d@ & gl B9 9¢
7 |

B. AW (wi=U) wEde aidl 1 sk T R |

Cc. wEie 69 % IR @Ed ofd 39 § | 9«
giq frdl =afs & FRAl & @ 9
@‘r@éaﬁiémwfiww%l

D. ® % H1 <l a8 G & T A § a8

ST B | ‘

ABdD

B,CdD

C,DI A

B,AdC

(D
(2)
(3)
(4)


http://aglasem.com/
http://career.aglasem.com/

E

72.

73.

74.

(22)

A portion of railway time-table for the route of
an express train is given below :

S. | Station  Arrival | Departure|Distance

No.| Name Time Time (km) Day

4 | Surat 16-15 | 16-20 530 1
Valsad 17-23 17-25 598 1

6 |Bhiwandi 21-10 21-20 772 1
Road

7 |Madgaon 7-35 7-45 1509 2

As per above information the distance between
Surat and Madgaon and the time taken to
cover this distance by the train, respectively
are

(1) 979 km; 15 hours 15 minutes
(2) 979 km; 15 hours 20 minutes
(8) 1509 km; 15 hours 25 minutes

(4) 1509 km; 15 hours 30 minutes

Al-Biruni came from a country now called
(1) Afghanistan

(2) Bangladesh

(3) Uzbekistan

(4) Oman

Select the correct statement about bronze
which was used in making big guns (cannons)
found in the fort of Golconda.

(1) Bronzeis an element
(2) Bronze is an alloy of copper and zine
(3) Bronze is an alloy of copper and tin

(4) Bronze is an alloy of copper and
platinum
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75.

76.

71.

_The correct examples were

(23)

While discussing about friction, a teacher gave
a number of examples to explain the concept.
Some of the examples where friction is useful.
in our day-to-day life as quoted by the teacher
are given below :

A. We are able to write because of friction
between the tip of the pen and the paper.

B. We are able to walk because of friction
between our feet and the ground.

C. A ball thrown vertically upwards comes’
back to us due to friction.

D. We are able to stop a moving vehicle by
applying brakes because of friction.

(1)
2)
(3
4)

A, Band C
B,Cand D
C,Dand A
D,Aand B

A public school has about two to three children
with special needs in every class. Some
children are physically or mentally challenged.
These children study with other children while
sitting in the same class. The public school
mentioned above follows which of the

following ?
(1) CCE
2)
(3)
(4)

Inclusive education
Peer education

Compensatory learning

Sarita’s teacher engages her in a number of
group activities such as group discussions,
group projects, etec. Which learning dimension
is her teacher following ?

oy
(2)
(3)

Learning through recreation
Language guided learning

Competition based learning

4)

Learning as a social activity

-]

75.

76.

77,
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78.

79.

80.

81.

(4)

(24)

A Science Exhibition was organiéed in Rohan’s
school. It was organised with an objective.
Which in your view is the most appropriate
objective ? '

(1
(2)
3)

Train students for various professions
Provide a creative channel for learners
Establish a name for the school

Satisfy the parents

An effective teaching-learning will happen in
the class when a teacher helps or facilitates to
link the knowledge a student has with the
new concept to be taught. The objective behind
this is to promote

(1) correlation and transfer of knowledge
) |
3)
(4)

individual differences
learner autonomy

reinforcement

While doing experimenfs and practical work,
Shyama’s performance is the best in.her class.
She is considered a very creative person. So,
she is learning a concept by

(1) imitation
(2)
3)

4)

convergent thinking
divergent thinkihg

modelling

Environmental factors that shapé the

.development of a child include all of the

following except
&
2
(3) quality of education
(4

physique

culture

quality of nutrition

78.

79.

81.
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82.

83.

84,

85.

(4

(25)

Seema learns every lesson quickly by rote
method, whereas Leena understands each
lesson after discussion and brainstorming. It
denotes the developmental principle of

(1)
(2)
3
4)

inter-relationships
individual differences
general to specific
continuity

In co-operative learning, older and more

proficient students assist younger and lesser
skilled students. This leads to

1
(2)
(3)
(4)

higher achievement and self-esteem
higher moral development
conflict between the groups

intense competition

Dyslexia is assoéiated mainly with difficulties
in ’

(1) -
(2)
3

heax"ing'
speaking
speaking and hearing

reading

The use of poems and story-telling to explain
concepts in an EVS class helps to

(1) take care of the language and cultural
diversity among learners

(2) channelize the energies of the students
in the right direction

(3) make the lesson enjoyable and
interesting

(4) promote the ability to imagine and

explore the nature of the world at the
local and global level

82.

83.

84.

85.

(3)
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86.

. 87.

88.

89.

90.

(1)

(26)

A teacher uses audio-visual aids and physical
activities in her teaching because they

(D
2
3

facilitate effective assessment
provide a diversion to learners

utilize maximum number of senses to
enhance learning

4)

provide relief to the teacher

The best way t;) assess a child at prirﬁary level
is to use

Portfolios

(2) Periodic tests
3)

4)

Home assignments -

Summative assignments

The following are the methods to teach EVS
except

(1)
(2)
3
4)

Explaining through lectures
Problem-solving
Cooperative learning

Guided enquiry

EVS teacher should
(1)
(2)
(3)
4)

focus exclusively on experiments
focus exclusively on books and tests
accept and respect perception of children

accept and respect views of parents

Exercises and activities in an EVS text-book
should be provided

(1) at the end of the unit

(2)
(3)
(4)

at the end of the chapter
inbuilt in the topics

at different places in the book

86.

87.

88.

89.

90.
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Candidates should answer questions
from the following Part only if they
have opted for ENGLISH as

LANGUAGE - L.

el Befifed WM % T S
Waﬁﬂéaﬁr@ﬁw—lw
ﬁwaﬁvﬁﬂmél
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E » (28)
PART IV
LAI?GUAGE 1
ENGLISH
Directions : Read the given passage and answer the {91, The use of the word ‘cranking’ conveys the
questions that follow (Q. No. 91 to 99) by selecting meaning that
the most appropriate option. (1) the key did not fit the lock properly
The day the cat was killed, Maddy watched her (2) the clock doesn’t work
mojcher mnq that old clock “Tlth }:'ner same h.ttle (3) the key was used with irritation on the
smile, cranking the gold key into its fupny little mother’s part
hole, as grandma wandered around the dining table .
. . . (4) gold was not a suitable metal for a clock
in her dressing gown while her nurse read a pulp ke
fiction on the front step, while her brothers scraped Y
their forks against the table and dripped the last[92. The siblings were ‘awful mouths’ is the
bits of potatoes and corn from their open, awful following figure of speech :
mouths, that clock sat heavy on the white carpet, at (1) Comparison
the end of the hall, mom humming along to that (2) Oxymoron
terrible ticking. It made Maddy’s teeth clench. (3) Transferred epithet
Truly, there was no point to these silly, endless (4) Epigram
family dinners. .Always being six o’clock sharp and 93. “Truly, there was no point to these silly,
never over until that clock was wounq, thirteen endless family dinners” The correct
vears of her life wasted for this nonsense so far, transformation would be
burnt up in boredom, when all the while she had . .
. . (1) The subject found her siblings mentally
some very important matters to attend to back in ) )
unstable and took long to finish dinner.
her bedroom.
(2) Her mother forced her to sit through a .
The longcase clock had been left by the lengthy dinner ritual.
previous owner, or mayb‘e th'e one before that, no (3) The food could only appeal to the
one was sure. Cloaked in pine wood and always youngsters, not a teenager.
counting, no birds printed around the clock face, no . . .
. . . (4) The subject was pre-occupied with some
farm scenes or flowers, just black numbers and wiry . ) .
) : personal work and was impatient with
hands and that was that. Then near the bottom, a .
i ; others at the dinner table.
long silver pendulum behind a square of smokey
glass. It was too heavy to tip, too tall to place{94. The tone of the story is
anything on top, old and faded and always suspect. (1) biographical
Her brothers avoided it at night and the cat avoided (2) narrative
it entirely (or used to). The clock face glowing round (3)  reflective
and white, over the wooden suit, like a pale faced (4) autobiographical
host lai ' ' :
ghost or a porcelain reaper, feetless and shadows for 95. The clock was ‘always suspect’. The subject

arms.

" pendulum while the boys knocked over the kitchen
chairs wrestling and playing tag, and grandmother
would nap by the television and the nurse would
paint her nails. All the time, her mom would smile
and hum.

And mom would sing along with the]

thought
(1)

that it wasn’t working at all

(2) it tended to move slowly
(3) it broke down periodically
(4) it had one hand missing
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“The clock face was glowing round and white.”| njrections : Read the given poem and answer the
This observation is further enhanced by the questions that follow (Q. No. 100 to 105) by selecting

observation that it was like the most appropriate option.

97.

98.

99.

1) gold -

2 di
(2) radium .

(3) silver

(4) ceramic

“It made Maddy’s teeth clench.” The idiom ‘to

clench one’s teeth’ can be introduced in an

EBL class by '

(1) giving a detailed meaning of the
expression

(2) giving other similar idioms and asking
children to guess the meanings in
context

(3) guiding students to find other ‘“teeth’

idioms on their own by looking up the
word ‘idioms’

(4) giving a worksheet where students use

the idiom in a number of situations

The word in the story means
‘incline’. [para 2]

(1) hum

(2) sharp

(3) tip

(4) drip

“All the time, her mom would smile and hum.”

This suggests that Maddy

(1) admired her mother’s calm

(2) thought her mother was indifferent to
time

(3) was convinced her mother was more

attuned to the mechanical working of the
clock — not the time

(4) thought that her mother didn’t care
about her family

Human Nature

Is it human nature

to desire forbidden fruit,

to hunger for a blossom

so obsessed with passion

that we forget the pain,

which inevitably arises

once we tease ourselves

with the thought of it

or taste a tiny part of it,

and it becomes the predator

eating at us like a carnivore

that saves the head for last

savouring the brain to feed its own

and we, still craving illicif nectar

enjoying the fact that it is devouring us ?
' C.J. Grant

100. Another word in the poem that suggests
" ‘forbidden’ is ' '

(1) obsess
(2) crave
(3) savour

(4) illicit

101. “It becomes the predator” means

(1) strong emotions influence one negatiyely
(2) pursuit of happiness
(3) Dbeing cautious against outside influences

(4) being strong and positive against any
threat '
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102.

103.

104.

105.

(30)
An example of personification in the poem is 108.
(1) saves the head
(2) tcase ourselves
(3) illicit nectar
(4) like a carnivore
“Eating at us like a carnivore” refers to
(1) Dbeing attacked by a wild beast
(2) being attacked by a human encmy
(3) being caten up by an unknown entity
(4) excrting a strong influence
“We, still craving' illicit nectar” can be 109.
explained by focusing on the word
(1) we

(2) craving

(3) illicit

(4) nectar

A synonym for the word ‘savouring’ is
(1) smelling

(2) flavouring

(3) experiencing

(4) avoiding

Directions : Answer the following questions by
selecting the most appropriate option.

106.

107.

Decorum in spoken language pertains to

(1) corrcet grammatical usage

(2) voice quality or loudness

(3) clarity and purity of style

(4) appropriate gestures

“You ask, what is our aim ? I can answer in
one word : Victory.” Churchill asks a question

and then goes on to answer it. Such a question
is

1) a prompt
(2) cxplanatory
(3) rhetorical
(4) stylised

110.

AglaSem Caree*r

-

A fellow traveller at the airport has just

finished réading the newspaper and you want
him/her to pass it to you. Choose how you will
make the request.

(1) Pass me the paper.
(2) DPass me the paper, please.
(3) Can you pass me the paper ?

(4) Could you possibly pass me the
newspaper ? :

Read this exchange.
Teacher : Do you like to read a story book

instead ?
Student : Yes.
Teacher : Yes, please.

IIcre the teacher

(1) confirms the student’s request

. (2) offers an alternative language activity

(8) relates language function with politeness

(4) makes a polite suggestion to start
reading

Which is a function word ?
(1) however

(2) booking

(3) principal |

(4) someonc

111. Strut, stride and trudge are words that

describe a manner of
(1) galloping

(2) running

(3) riding ‘

(4) walking *



http://aglasem.com/
http://career.aglasem.com/

(31)

112. The documents have been downloaded by the

students.
The students have downloaded the documents.

The two given statements can be
differentiated by drawing students’ attention
to the

(1) use of ‘by’ in the passive form

(2) differences in the arrangement of words

(3) roles of the subject and object in both
sentences

(4) change in the verb forms

113. Which pair constitutes types of ‘cognitive

style’ ?

(1) Individual/team work

(2) Project oriented/paper-pencil activity
(3) Grammatical accuracy/fluency |
(4) Field dependence/ﬁeld independence

114. The process of word formation consists of

115.

(1) compounding and conversion

(2) conversion and meaning

(3) spelling and corhpoundin-g

(4) using synonyms or euphemisms .

When reading, to ‘decode’ means to

(1) make notes

(2) read superficially for the general
meaning

(3) recognize words to understand their

meanings

4

replace long words with symbols

116.

117.

118.

- (2)

119.

AglaSem Career

Speaker 1 : Where are you from ?

Speaker 2 : Kashmir.

During the assessment of students’ speaking-
listening skills, mark/s would be deducted
during this exchange for

(1) the first speaker

(2) the second speaker
(3) both
(4) neither

While writing, one of the cohesive devices used
is

(1) - phrase

(2) ellipsis

(3) adjective
(4) preposition

If the piece of writing is brief, complete, in the
third person, without digressions
emotional overtones and logically arranged, it
isa - '

and

(1) classified advertisement
memorandum

3) repoft

(4) newspaper article

Use of the medium of motion pictures offers

a/an experiehce for the student.

(1) abstract
(2) indirect
(3) concrete
(4) vicarious

120. According to the recommendations of NCF

2005, technology could be integrated

(1) with the larger goals and processes of

: educational programmes

(2) with revisions to meet current
developmental policies of the Central
Government »

(3) as an add-on to the main educational
goals

(4) used only judiciously ‘subject to the -

economic and social goals of a community
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Candidates should answer questions
from the following Part only if they
have opted for HINDI as
LANGUAGE - 1.

glieqrefil fferfiaa 9w & ool & IW
Had aft ¢ AR B 9wt — I
foreheq fa=at 1 &1 |
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91.

(2)
(3)
(4)

92,

(2)
(3)

4)

93.
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94.

95.

96.

97.

98.

99.

3w’ Iy} fore wea A TET R 2
(1)  3meAfR -
(2) ATIEHH

(3) AT ’
(4) YHTH

wEh % AER « foefar wig § gm 2w &

AR & 3fdgr@ 1 fomgerl 9= fomar o

@1 7 THHT ST §

) foenfrar nfa e wia & &9 F ST S
3

(2) 98 Uk Wradd fFHE-he =9 @R

(3) 98l % @ A W A 7

(4) Hg ¥ sfagm w fomms Wiy e
L

AT _ GHIE I 3SR B |

(1) sghfR

@ T

(3) dqeN
(4) AYE

Tiefsh T T TE < B |
(1) ety

(2) w3

(3) THHIAT

- (4) 9IEHH

frafefiga # @ w1 1 s 757 2
(1) reafysiar

2 wWEad

(3) ARMEA

(4) TG
IEY e 1 faem

FuAft

(34)

AglaSem Career

RS : Faar # g Feffea 3941 (9.9, 100 8
105) § @ad 3fad fadeq gi4e |

100.

g § A oA <,
w1 ST H @l =iel 6 @ |
HTA e SAf-gY 6,
FTel dIed fava-aaw &,
ol TG 380 9I T
FIFTAAT % JAN o !
AT 3T €, B T
FTot AIGA H g Ard) <l !
(T # a1, ghATE 77)

“FHTel 91ed H @l =il H1 W@ 7 9fs =1 9
% o

(1) e arEdl § 9T W wd g

101.

102.

@ fufaal & o= s 6 e e ot 2
(3) arEdl & THUA Y fosreft wuerdt B
(4) 3T & =re TR AT B

%+ |
1 & ghe
(2) SfaTd T
(3) HFET gRI M aTeh gergrel!
4) &M
FI digd U Tgdl e h @r # e

AR 8 ?

(1) 3I9HT TAFR
(2) ®UF FABR
(3) 3ITHE BN
(4) YOI B


http://aglasem.com/
http://career.aglasem.com/

AglaSem Career

| (35) . E
103. = # & wee =1 vl v 77 R 108. w= 3194 REy ¥ @y W Ifid wW § |
Q) e 3H! T fafgard @8 & T
(2) TG | () o= H gg WiNe qRaw Iucsy AT
3 W L
(4) TR (2) WAl B had @I AN H1 g GREwm
| \ IqSA HUAT MY |
104, AT 1 feim weg R | (3) =l I T Glel AN B AR Iy
1) T srASR
(2) 7AW (4) =1 i foaepd ot 99T 7 9GE AT
(3) UGl
(4) A '
109. N1 HiEA-rEm &1 329 8
105. Hf T G ik J@ ) A Fe 2 7 (1) ST T e drE
W e @ TE H = wHEE dE
@) Faelt 51 @ o A g % R b

(3) maﬁﬁm;ﬁ

P S (4) faft feafaat | wren <61 99wl 3= e

R : AT SoT & 3w 27 % forg e fr| 110. T TR o forg waifes wewl 2
fAFeq gAY/ (1) WEETWTE}J-W
(2) TSI T 3TTeheH
106. WNT & 1
(1) EINUT T THATH 194 B
2 T Fameg =geen 2

(3) aa‘i_aﬁmm-mﬁnésmmam
(4) T < JA *F iy wSR W@ AT

(3) Th ST g &
4 Thfamaam g , 111, 9197 <6 wem H U faes w= @ w0 oMaEn
_ HAT ] ? _ '
107. WIST &1 34 (1) w9 gal % S9-SY Sae @
(1), I UIGH-g& | BT 8 (2) é@aﬁ‘gmﬂﬁ'ﬁmé

(2) %aa gfga arnft § g g
@) <faa ¥ faft deul & S d
(4) aet e § g @

(3) o= IR AT w1 faepa ot W@ A
Eat

@) u= wEE % S TEE A



http://aglasem.com/
http://career.aglasem.com/

E

(36)

112. STST % 1R Shl GHE i

Fexluter Tl 6 HIeH @ AT JH1 A1(8T
Faad aefg Tl & WeEm | SAfRr S
=fee

Yot TR W ¥ e st 9
Bl

fdurers gl % Weaw 9 ATl ST

Sl

(D
(2)

(3

4

113. Yo7 U, RfEN @6 &, qieEEt § owm

o1, ofq e

1) hae Reoagh &

@) waw el nfafafemr 8

3) WIN-THeH HalH A E

(@) W HEI-fEm qur Ak & % 8

\

114, gl T TERER R wa

(1) = AIgETT F g Eea wE R
ST =R

(2) S 1 AGHT 1SR A B e

(3) =i <l HIGWINT I GG GRIH, TE
24 g A A @ off gierR o e

(4) =T B had HEEH VN F @ F AU
B JEhd T 18

115, Frafafen § @ - vy Rieor o1 seva @ 2

HTST & SATHT TGS W S <A

st oTgwal & YR W 9INT 1 gorsial
SRIRT AT

w11 Higd wwa Jfeat foepa 7 0

T <Y Al 3R dicdey w5 wd w9 A
T <h1 ST hl FAIETR HE

(1)
(2)

3)
(4)

116

117.

118.

119.

120.

AglaSem Career

T B wwEeh Hiw W F o
WA ¥EyER

(1) Fafaa wden

2 e sl

(3) URwIfer

(4) IA-gfETeRTat

EICARIECR IS

1) EaR

@2 ueE

(3) W1 HiEa I THATA TEIYH B
@) FEY & B =R

el <l ATNT % 3MTeheid T Haifeeh THIE Tl
2 v

(1)
(2)
(3)
4

 GNLC]
forfaa afien

el % I &

3 o it ot W wmft w ufafsen
H HET

WIST-37ei ¥ HEwel 3

(1) WIea-g&

(2 Wt % e

(3) W % faftm =it w5 wm
(4) TSI <l SATEHT

g urer Hien |
(1) deeh 3
(2)
3

(4)

qYF §
3t s <t §
T % TG g B



http://aglasem.com/
http://career.aglasem.com/

(37)

Candidates should answer questions
from the following Part only if they
have opted for ENGLISH as

LANGUAGE - 1II.
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LANGUAGE I1
ENGLISH

Directions : Read the passage given below and
answer the questions that follow (. No. 121 to 129)
by selecting the most appropriate option.

Nammescong Creek flowed into the backs of
my thighs as I fished, pausing between casts
to secure my balance in the current and

~ admire a new hatch of pale yellow mayflies lift

from the stream. Over my shoulder, the sun
dropped into a farmer’s cornfield, the final
patch of orange light on the water enough for
me to spot the small, vaguely metallic object
at my feet. Retrieving it, I ran my thumb over
its raised lettering, rubbing away the mud and
a string of algae. A name appeared, along with
an expiration date. June 1984. I had
discovered arrowheads here in the past, so it
didn’t seem misplaced to find a tool used by
modern man to obtain a meal.

I took a moment to consider how the card had

" come to rest in the bed of the Nammy. I
_'thought maybe there was a story in it. I was

curious to know if the owner had lost his
wallet while fishing, the whole trip ruined the
second he’d inventoried his cash or dug out his
license for a game warden. Over time the
leather would’ve rotted into fish food, with the
scoured plastic remaining. I wondered how
many miles the card might have ridden on
spring floods over the past quarter of a
century. For all I knew he could’ve been
robbed, the thieves stripping out the money

‘and tossing the billfold away later as they

crossed a bridge.

Looking him up and phoning, I recited the
card number and issuing bank. He laughed,
recalling it as the first credit account he’d ever
taken out, a line of imaginary cash in those

years when he had no real money. But that :

finally changed, he explained, after an

121.

122.

123.

industrial accident cost him his left eye, the
payoff from the plant enabling him to retire
eight years earlier than expected and move to
a small hobby farm in southern Virginia. He
told me a glass eye wasn't his style, so he had
taken to wearing an eyepatch, which his wife
still hates and his grandchildren — ages
three, five, and séven — have always loved, as
it makes Grandpop look like a pirate. He
called them his Miracle Grandbabies, born to

‘a daughter who struggled with alcohol and

drug addiction for years — her rock-bottom in
1984, a year before she cleaned up for good.

But in the end the man couldn’t remember
ever losing his wallet, either by accident or
theft. He said he’d never fished the Nammy,
that, in fact, he’d always thought the sport a
little boring, and so I came to realize there
was no story here,

“Flowed into the backs of my thighs” informs
the reader that the narrator was fishing while
1) sitﬁng on the river bank

(2) his legs were hanging in the river

3’ standing in the river '

(4) walking across the river

‘Scoured’ means

(1) drenched

(2) cleaned

(3) bent shapeless
(4) discoloured |

“...a tool used by modern man to obtain a
meal” in this context is a/some -

(1) fishing rod
(2) money

(3) coins

(4) credit card
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124. ‘The whole trip ruined’ was because of the

125.

126.

0V
(2

(3)

4

sudden appearance of mayflies

loss of the wallet, for its ‘owner’ who had
given up his/her holiday

orange sunlight falling on the water
thereby disturbing the fish

narrator’s attention being diverted by his
find

By ‘looking him up’, the narrator

(D
(2)
(3)
4)

referred to a telephone directory
attempted to meet the ‘owner’ personally
called him up through an operator

found out about him through various
sources

‘A small hobby farm’ would be

(1)

(2)
(3
4)

an open space where rare animals are
cared for

a small zoo in the béckyard
a commercially successful farm

a farm run without any profit

127. The ‘owner’s’ daughter had cleaned up by

128.

(1
2)
3)
4

getting married

having two children
giving up a destructive lifestyle

choosing to stay with her parents

There was no story because

(1)

- (2)

129,

(3)

4)

what he found out showed that the
‘owner’s’ life lacked adventure

he was disappointed that the ‘owner’ was
well to do

the ‘owner’ did not share his interest in
fishing

the reality did not live up to his
imagination

A word in the story that means ‘soar’ is

(1
(2)
(3)
4)

born
lift
plant

rub

Directions : Read the passage given below and
answer the questions that follow (. No. 130 to 135)
by selecting the most appropriate option.

1. The No Child Left Behind Act of 2001 has
served as a catalyst in many school
improvement efforts. Schools in the United
States are responding to meet the challenge of
these improvement efforts, although in doing
so, some are caught in a decision-making and
funding quagmire. They ask, “How can we
best support teachers so that all students can
succeed ?” Using technology as a means of
closing achievement gaps is one option schools
are considering more purposefully and
effectively. This includes using assistive
technologies for students with special needs
and creating a systemic approach to change
that benefits all students, including
subgroups.

2. Assistive technologies are technologies that
support students with disabilities, of which a
total of 6.5 million were being served through
the Individuals with Disabilities Education
Act of 1997. This Act defines an assistive
technology device as “any item, piece of
equipment, or product system, whether
acquired commercially off the shelf, modified,
or customized, that is used to increase,
maintain, or improve functional capabilities of
a child with a disability.” Regardless of their
previous experience, many administrators and
educators are expected to be change agents of
school improvement efforts today and be well
versed and knowledgeable about assistive
technologies, despite the fact that the
definition of assistive technology is so broad
and the field is relatively new.

130. “Schools found themselves in a funding
quagmire.” Here, ‘quagmire’ means

(1) boggy area
(2) isolation

(3) indebtedness
4) quicksand
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131. According to this report, ‘achievement gaps’

can be closed by

(1) investing on more reference books in the
library

(2) conducting after school special classes for
weak students

(3) getting more financial support from the
government

(4) recruiting and training moral personnel

to help the special needs children

132. Functional capabilities constitute the
(1) ability to go for higher studies
(2) the skills to cope with everyday
challenges '
(3) the deter_mihation to succeed
(4) exceptional talent in academic or literary

activities

133. A ‘product system’ here means

(1) services or financial investments that
are not commercially value-adding

(2) important resources not available to the
disabled persons

(3) special training equipment designed for
disabled children

(4) products that are freely accessible to

schools only

134. Find a word in the report that means ‘widely
circulated’.
(1) systemic
(2) achievement
(3) product
(4) change
135. The antonyrh for the word ‘hindering’ would be
(1) challenge
(2) disability
(3) assistive
(4) customized

(40)
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Directions : Answer the following questions by
selecting the most appropriate option.

136.

137.

138.

139.

140.

T loved Ophelia : forty thousand brothers
Could not, with all their quantity of love
Make up my sum’.

The phrase . forty " thousand  brothers’
illustrates a figure of speech called
(1) imagery

(2) personification

(3) hyperbole

(4) allégory

The homonym of jbier’ is

(1) bear

(2) beer

(3) bare

(4) bar

A rhetorical question is asked

(1) to gather personal information

(2) to clarify a concept

(83) for the sake of effect with no answer
needed

(4) to get a feedback about what others

think about your speech/writing

Aﬁ example of linking adverbials is

(1) the
(2) these
(3) so

(4) your

Language acquisition

(1) . requires the memorization and use of
necessary vocabulary

involves a systematic approach to the
analysis and comprehension of grammar
as well as to the memorization of
vocabulary

refers to the process of learning a native
or a second language because of the
innate capacity of the human brain

is a technique intended to simulate the
environment in which children learn
their native language

(2)

3

4)
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144.

145.
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’ /
According to NCF 2005, learning of English
aims »
(1) to enable knowledge acquisition through
literacy and its development into an
instrument of abstract thought

(2) to subsume the languages that a child

acquires naturally from her/his home

and societal environment

to introduce standard sign language in
English for children with language-
related impairments

to provide adequate facilities at the State
level for instruction in English at the
primary stage of education

3)

4

‘While listening’ means a stage

(1) when students are listening for pleasure
(2) when students are listening to a
recording of a natural conversation
(3) where the students attempt a listening

task
(4) = when a listening activity is introduced

Student A and Student B ask and answer
questions to complete a worksheet. This is

(1) an information transfer activity
(2) arole play \

(3) an information gap activity

(4) acontrolled interview '

Criteria of assessment is a/are

(1) guidelines with marking scheme

(2) question-wise distribution of marks

(3) general impression of a student’s ability
(4) scoring key

In the word ‘scarce’, the phonetic transcription
for ‘a’ is

(1) /el

(2) /ed/

3)  fie/

4) /ae/

Notes can be made using a flowchart or a web-
diagram. The study skill involved is

(1) storing

(2) summarising
(3) retrieving

(4) gathering

147.

148.

149.

150.
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The students make mistakes while playing a
grammar game. The teacher should

(1) call aside the erring student and offer
some guidance

(2) call aside the student incharge in the
group and instruct him/her to guide the
student

(3) quietly note down the mistakes and hold
a remedial class for the ‘erring’ students

(4) quietly note down the mistakes and

discuss them with the class after the
activity

What is taught is not what is learnt because

(1) a teacher or learner can never fully
master any discipline

(2) students pay attention during informal
discussion

(3) a teacher’s socio-economic level mady
differ widely from the students’

(4) students possess different” abilities,
personalities and come from a variety of
backgrounds

Learners are familiar with the concept

‘cyberspace’ due to their cognitive overload.
Therefore, learners

(1) may end up studying more meaningful
topics in class

(2) may explore their own interests
according to their own experience,
background and perspective while
spending considerable time navigating
for content

(3) usually omit studying prescribed but
important topics .

(4) may be exposed to a sequential and -

cohesive expository presentation

Constructivism is a theory where students

(1) study a variety of dissimilar samples and
draw a well founded conclusion

form their own understanding and
knowledge of the world, through
experiencing things and reflecting on
those experiences

are facilitated by the teacher and use a
variety of media to research and create
their own theories

construct their own learning aids,
thereby gaining hands-on experience

(2)

3

(4)
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Candidates should answer questiohs
from the following Part only if they
have opted for HINDI .as
LANGUAGE - 1II.
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READ CAREFULLY THE FOLLOWING INSTRUCTIONS :

1. Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Blue/Black Ball ‘Point Pen on
Side-2 of the OMR Answer Sheet. The answer once
.marked is not liable to be changed.

2. The candidates should ensure that the Answer
Sheet is not folded. Do not make any stray marks
on the Answer Sheet. Do not write your Roll No.
anywhere else except in the specified space in the
Answer Sheet.

3. Handle the Test Booklet and Answer Sheet with
care, as under no circumstances (except for
discrepancy in Test Booklet Code or Number and
Answer Sheet Code or Number), another set will
be provided.

4. The candidates will write the correct Test Booklet
Code and Number as given in the Test Booklet /
Answer Sheet in the Attendance Sheet.

5. Candidates are not allowed to carry any textual

" material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other
material except the Admit Card inside the
examination hall/room. _

6. Each candidate must show on demand his/her
Admission Card to the Invigilator.

7. No candidate, without special permission of the
Superintendent or Invigilator, should leave his/
her seat.

8. The candidates should not leave the Examination
Hall without handing over their Answer Sheet to
the Invigilator on duty and sign the Attendance
Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be
deemed not to have handed:over the Answer Sheet
and dealt with as an unfair means case.

9. Use of Electronic/Manual
prohibited.

10. The candidates are governed by all Rules and
Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of
unfair means will be dealt with as per Rules and
Regulations of the Board.

11. No part of the Test Booklet and Answer Sheet

- shall be detached under any circumstances.

12. On completion of the test, the candidate
must hand over the Answer Sheet to the
Invigilator in the Room/Hall. The
candidates are allowed to take away this Test
Booklet with them.
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Note: Obtain Language Supplement Test Booklet if Language-| or
Language-ll opted is other than English or Hindi.
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